


AL A] x—4y+6 =02 TH2E T off, E AFRH-ES 2}
Exz] 12 %9

@ A 1, 3AHEH @ A 2, 4421

@ Al 1, 4AHEE @ A1, 2,3 HEH

® A 1, 3, 4AHEH



@ 1 ® 2

® 0



P4 ax -3y +6=09] 71&717} -

Q1%
=

4.

@ 2 ® 3

® 0






AL 2]
29
Da=2,b=
®a=-2,b
®a=-1,b

o 7k 245 @Al At a, b O B

<Da=2,b=—1

= —o

@a=1,b=—-



® 02x+0.5>04x-0.3

ONQ @ © ® 0,0

ORONC)

® 0,06



8. —6§x<2?—:1‘IH,A<1—%SBE’rI’_§}E}. ol B- A 9] 29

Do @1 ® 2 @ 3 ® 4



9.

xo W97t -1, 0, 1, 2 o, ot

@D 2x < -4

@ -x+627

=]
T

@ x+3<4

® 2¢x—3> -1



10. ol FolE @ FAIE B4 50 17t FEol 3 50 HE W19 1 A 10
29] aFo] Habgeh B0 1500 A& WA row B
Ao B A7) Bl 4 QIR P

@D 20074 @ 2507 ® 3007
@ 35071 ® 40074



11. A7) Al el doj7t 242t xem, (x+2)em, (x+5)em 4 o, x 9
7ol Hel=?

D x>1 @ x>2 @ x>3 @ x<?2 ® x<3



12.

158 9 TV ol 4 Au|gls 3] L2 o] Wt Agolst
TV 9ol 9ot Qe ob¥l x| 7k 47 HR-52 A7tk Hgelrt 1

m o] SER PEch, B m o] el gl 7HAe] bk 155 o
o Solg 4 =Tl (&, BAS A el A7k 18o]th)

@® 120m °JH @ 180m °]4j ® 200m °J4Y
@ 240m °J4y ® 350m °|4



13. y=2v+50] BASL A (3, 2) 5 Ak A40] ALY

O y=2x+4 @ y=2x-4 ® y=3x+6

@ y=3x-6 ® y=-2x+5



@) 5 om
® ?CIH

i [}
Zo]
(cm)

301

10+

Y

(o]

12345
A7

=
Py

t
gl

29

® Zcm



ol 0.1km 9] ¢

=

=1
o] 0.6km , &0l

ojuff, ol= 18

__o_l
R

__o_l
H

__o_l
o

LOT
ld

_#OT
utd



16.

ATy = 2ax +3 S y 2
y=-2x+b7} 2 W, ab 9] 327

® -1 @ -3 ® 2

Kl

Fozg -5



2 3y =
17, %%%”éﬁ{ TEWE0 o) gt st e W, a0 Be

6x+ay =10
b2

ot

___rL

@7 @ 8 ® 9 @ 10 ® 12



A, B ¥ Abgo] 1SSIRE sho] o]7] Aghe 3 ATH £
A AR 1 ARE W7 stk 4 £ AR 10 AL,
B2 AT ke ), A 7} o7 A5 (&

%ot



19. a<b 4™, d5 T &2 e BF A=W

2 2
@ga—1<gb—1 @ 3-4a>3-4b
® —a+T7<-b+7 @ -2-2a<-2-2b
5 2-a 2-b

>
3 3



20. 2%

= QA ax + by + ¢ = 09] T Zo] 3 Aoz &
ALY (Ha>0 b=0, c<0)
(1]

. o] 2P mo] yHEe —golu}.

L. o] ZdmE A 1 AR w T} A 4AHE S At

C, o] A#nE 9HS Atk

=, o] 1T YHH T} 9 BZof 9|t

0, o] L yEof 529l T molct,

® L, c,=

Mo



